FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
RUSTIC REDWOOD BENCH




'9z1S uo Buipuadap Area [[Im arempaey JnoA Jo suolsuswiq

910N

"(sba] ayp 01 Jess 8y yoene o)

m A_: i e | e e o e e e e mu_Om:mX:QH\m
"(sbaj
v ‘ i s AR 3y} 0] 1eaS a1 pue 1Sa.x2B(q 8yl yoene o)
syod .4 € X ,.9T/S
‘ON Buimeaqg uondiiosag
1S171 IdVMNALVH
"Juss suied ayl Uo payJew S1aquinu ayl 01 Ydrew 10u op asay "AJuo adua1ajal Ao} aae 3qe] Saxog JO 1UaIU0) ayl Ul Sisquinu ded 910N

| [ o |

H A ) |
"'ON Buimeaq uondiiosag ‘A0

S3X04d 40 LNJLNOD

PI1

RUSTIC REDWOOD BENCH
www.ForeverRedwood.com



“uss siied ay) UO payJew sIaquinu ay) 01 Yorew Jou op asayl AJuo 9ouaJajal 1o} aqe BUIMEIq ayl Ul siaquinu 1ed 810N

€ Jess

Z 15a0eg

T sba

NOILd140s3d

P| 2

RUSTIC REDWOOD BENCH
www.ForeverRedwood.com



Step 1: Attach the backrest (2) to the legs (1) with 5/16"" x 3 %" bolts (A). Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16" X 3 %" Bolts

Step 2: Finally, use 5/16"" x 3 %" bolts (A) and 5/16"" x 5”" bolts () to attach the legs to the seat (3). Each part has a series of

numbers that indicate where to attach the part with the corresponding number.

5/16" X 5”" Bolts

5/16” X 3 %" Bolts

P|3
RUSTIC REDWOOD BENCH
www.ForeverRedwood.com



This completes the Bench assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

Pl 4
RUSTIC REDWOOD BENCH
www.ForeverRedwood.com



